= /PN
THEEERTER (401)
THE4 | R 3fE+ FESZeikit LS ERENES (2) %ﬁa;& égfﬁg f&ikE
THEXS5 HE
THEX - Hikg <X{va e (AED) F B R
TH FEHMERT
= 1
LT
= 1
F=n"—VA T
= 1
R (HE - BEE) MBS £FE (2. 30LL 2. 40t/m35k
i) , MRS AR ERLEE T AT 7V MR
A, EHAEE  30mm, SEHINE B 1. 4mbL m2 600
TAT 7 M A S T
= 1
NS ZA PORHFESA : AR ET AT 7 MRS (
13)
t 15
IE% T
= 1
RIEEE T
= 1
AR IE
(A: B/
AH 20
AW
(B:BM))
NH 20
RN X
= 1
- Ry =0y =N




TEEERL R (01)
THE4 | R3ML [EEZElH M 2 - PEokfh S ERES (2) FEX Sy TH R HERT -
LRy H R HER
LXKy - T - FR - A psliss BT e (Al & (5E) $ S
IR
= 1
miaRE (FEL)
= 1
ol T
= 1
B P
= 1
T
= 1
— R R
= 1
T gk
= 1
T BIAE S O 7 Y 2 BigE
= 1
TA
= 1
-2 - T I




